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- HIGHLY ERODIBLE LAND CLASSES - HIGHLY ERCODIELE AND

1 = HIGHLY ERODIBLE LAND FOTENTIALLY HIGHLY ERODIRLE
£ o= POTENTIALLY HIGHLY ERODIELE LAND CACULATIR VER 1.1
o= NOT HIGHLY ERODIEBLE | WIND EROSIION ! WATER EROSION
MAF C I HEL R K T SLOFE- FERCEN SLOFE-~LENGTH LS~ VALUE HE
MUID SYMEQL SOIL NAME “  VALUE VALUE (CLASS VALUE VALUE VALUE MIN. MAX. MIN. MAM . MIN. MAXM. ET/RE CLA
HHRXRRRIR R HWNH WA RN R RN ERE e W RN HHRREFE RN RHHHRR HREREE HFRRR XN XRE HXRAE REEEEE XA ER HRAR* *****H L L2 * %
OO1ARA AEA ABEOTTSTOWN 1 100 Q.2 150 0,42 = 0 c 100 400 0O,.Q8w O 438 O 372 2
QDIABAZ  ARAZ ABEBOTTSTOWN 1 100 0.8 150 0,43 3 o] = 100 400 0.0 0. 435 0,37 =
QOLABES ARRE ABEROTTS TN 1 100 = 150 Q.43 = B = 100 400 Q287 1,982 037 Z
OOLAGA AGA ARENDTSVILLE 1 100 0. 150 0.17 4 Q = 100 400 Q.08 Q.43 ]
OO1AGRE AGRE ARENDTSVILLE 1 100 Oul 1580 0.17 4 3 k] 100 400 0,287 1,982 =
OOLIAGCE AGCE ARENDTSVILLE 1 100 o] 150 Q.17 4 2 15 100 400 O.991 B.11% =
001AGCE  AGC2 ARENDTSVILLE 1 100 4, 0.2 150 0.17 4 = 15 100 400 0,971 .11 =
O01LAGD AGD ARENDTSVILLE 1 100 Q. 150 0,17 4 15 25 100 400 Z.BEY  11.720 1
OO1AGDE  AGD3 ARENDTSVILLE 1 100 [ 150 0.17 4 15 25 100 400 Z.85% 11,720 1
OO1AGE AGE ARENDTSVILLE 1 100 = 150 0.17 4 e 35 100 400 B.390 20,444 1
QO1AGEZ AGEZR ARENDTSVILLE 1 100 = 150 0.17 4 =58 =5 100 400 5,370 20,444 1
OO1LAGFE  AGFZ ARENDTSVILLE 1 100 ] 150 0,17 4 25 40 100 40010,222  E5,30% 1
DOLATAZ  ATAZ ATHOL. 1 100 0.2 150 0,28 4 (o] 3 100 400 0,087 Q.435 0,762 =
OOLATRE  ATERE ATHOL 1 100 0.2 150 O, 28 4 2 2 100 400 Q.227 - 1.922 0.76E =
OOLATCE  ATCE ATHOL 1 100 Q.2 150 0.2 4 2 15 100 400 G,771 5,119 0,742 1
QOIRE EE EERMUDIAN 1 100 0.8 150 0.3 4 Q 3 100 400 Q.0&% Q. Q.8577 3
QO1EMA EMA BIRDSBORO 1 100 0.8 160 Q.37 4 o] 3 100 400 O, Q6% [a) Q877 e
QOIEMEZ  BMRZ BIRDSEORD 1 100 0.2 180 Q.37 4 = = 100 400 : 1,928 Q.877 &
O01BMCE  BMCZ BIRDSEOIRD 1 {00 0.8 150 0,37 4 = 15 100 400 B.11% 0.577 1
OO1EN EN EOWMANSVILLE 1 100 Q.2 150 0,32 4 Q = 100 400 Q. 438 0,687 =
&ooumo> BOA EOWMANSVILLE 1 100 0.2 150 Q.43 i O K] 100 400 0.425 0,372 e
QOIRBOE EOE EDWMANSYILLE 1 100 0.3 150 Q.43 3 3 2 100 400 1,988 0,372 o
QOLIBRAZ ERAZ ERECHKNOCE, 1 100 0.2 150 k] 0 K] 100 400 O 0,425 0,500 e
OQ1BRBZ BREZ ERECKNOCEK 1 100 0.2 150 3 3 = 100 400 O 1,982 0,800 =
001BRB3 BREZ BRECENOCE 1 100 0. 150 3 a3 E 100 400 © 1,938 0.800 £
O01BRCZ RRCE : 1 100 0.8 160 3 = 15 100 400 O F.119 0.5 1
001BRCZ EBRCE 1 100 = 150 3 = 15 100 400 0O B.11% Q.800 1
O01BRDEZ ERDE BRECKNCOCH 1 100 0,8 150 3 15 25 100 400 2 11,780 0,800 i
OO1BRDE  BRD32 BRECKNOCE 1 100 0.2 150 e 15 28 100 400 =2 : 11.780 0,500 !
OO1ERE ERE BRECENGCE 1 100 = 1580 3 i) 50 100 400 S,29%0 35,444 0,500 i
001BUA BUA BUCHANAN 1100 k] 150 3 [¢] 3 100 400 O.08% Q. 435 0,571 b
O0LBUR BUE BUCHANAN 1 100 a 150 3 3 =] 100 400 0 0.871 =
QOLRVC BVC BUCHANAN 1 100 = 180 3 Q 12 100 400 0 Q.aAT &
QO1CCRE  CCBE CATOCTIN 1 100 ] 150 & 3 = 100 400 O OLeET =
Q01CCCe CCC= CATOCTIN 1 100 = 150 & 2 15 100 400 QL.e27 1
: [e{ad i CATOCTIN 1 100 ] 180 Z 2 15 100 400 QL a7 1
cepe CATOCTIN 1 100 = 150 z 15 25 100 400 11.720 0,627 1
CCDz CATOCTIN 1 100 = 150 Z 15 5 100 400 11.780 0,627 1
CCER CATOCTIN 1 100 & 150 z =8 25 100 400 20,444 0,627 1
Ck. CHEWACLA 1 100 o 150 0,49 4 o] e 100 400 0.435 0.435 3
COAZ CONESTOGA 1 100 ] 150 0,32 4 Q 3 100 400 Q.435 0,667 k]
O01CORE  COBZ CONESTOGA 1 100 @ 180 Q.32 4 2 = 100 400 i = O.aaT =
QO1COR2 CONESTOGA 1 100 = 150 Q.32 4 = 2 100 400 QL BET &
001C0OCZ CONESTOGA 1 100 ] 150 0.3 4 @ 15 100 400 Q. a7 i
001COC3 CONESTOGA 1 100 @ 150 0.32 4 k] 15 100 400 0,791 B.11% 0,467 1
QO1CAD3 CONESTOGA 1 100 2 150 0.3 4 15 58 100 400 2,857 11,780 0,447 i
Q01CRA CROTON 1 100 0.3 150 Q.42 ] Q 3 100 400 0.04% 0.435 0,372 &
Q01CRBZ CRIOTON 1 100 0.8 150 0.432 3 3 =] 100 400 Q287 1.982 0,372 Z
oo1by DUNNING 1 100 0.8 1580 Q.32 153 0 3 100 400 0,089 0,833 e
OOLECE EDGEMONT 1 100 0.2 150 Q.18 ] ] = 100 400 Q.287 1.0a7 =
001ECC ECC EDGEMONT 1 100 0.2 150 O.15 3 = 15 100 400 0,991 1,067 s
QO1ECD ECD EDGEMONT 1 100 0.2 180 Q.15 = i85 i 100 400 Z.5569 1.047 1
-QO1EHB EHB EDGEMONT 1 100 0.8 150 0,15 = o] = 100 400 0,067 1.067 Z
QO1EHD EHD EDGEMONT 1 100 0.8 150 0.15 3 o 5 100 400 0.991 711,780 1.047 Z
YRR A ¥~ FHE FNGEMONT 1 100 [ I = 150 0O.1F o e T 100 400 /o290 BATRF 07 1
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100

OOLEHE  EHE EDGEMCINT

1 A Z5 70 400 B,E 1

O01GCA GCA GLENELG 1 100 = Q e 400 O.08% 0.5B00 =
OOLIGCRE GCRE GLENELG 1 100 e ] I 400 QL E00 =
GCC GLENELG 1 100 ] = 15 0.5B5O0 1

OO1GCCE GoCe GLENELG 1 100 k] = 15 i
OO 1GNA GLENVILLE 1 100 bt (%) E 400 e
OO1GNE GLENVILLE 1 100 A = = 400 =
00164 GUTHRIE 1 100 s & 0 e 100 400 =
QO1HCAZ HIGHFIELD 1 100 0.3 ] Q ] 100 400 e
HIGHFIELD 1 0.3 2 e = 100 400 &

OOLIHCCE HIGHFIELD 1 Q.8 £ = 15 100 400 1
OOIHCCE HIGHFIELD 1 ) £ o 1% 100 400 1
QOOLIHCD HIGHF IELD i k] £ 15 e ] 100 400 1
OO1HCD2 HIGHFIELD 1 0.3 = 15 28 100 400 11,720 1
QO 1HHE HIGHF IELD 1 Q.5 0 = 100 400 0,067 1.98E z
OOIHHE CATOCTIN Z ] e (s} & 100 400 =
OO1HHD HIGHF IELD 1 = k] = 5 100 400 i
OO1HHD CATOCTIN z 2] Z = 5 100 400 1
OO1HHE HIGHFIELD 1 Y 0.E 3 5 70 100 400 i
OO1HHE CATOICTIN = 0.5 = =5 TO 100 400 2 1
OOLHOEE HOLL INGER i 0. = ] = 100 400 7 =
QO HICE HOL L INGER 1 Q.8 ] = 18 100 400 0,921 1
OO IHODZ HOLL INGER 1 O, 2 15 =5 100 400 Z.85% 1
D1KSAE  KBAZ ELINESVILLE 1 0.8 z ] 3 100 400 0,047 3
O01ESEE  ESEE ELINESVILLE 1 Q.8 Z ] = 100 400 0,227 =
OOLESE:  ESEZ FLINESVILLE 1 0.8 s ] = 100 400 =87 Z
O0IKSCE  KSCE ELINESVILLE 1 0.8 Z = 15 100 400 w7l 1
OOLIESCE  KSCE ELINESVILLE i 0.3 = = 15 100 400 221 1
O01kSDE  KSD: FLINESVILLE 1 0.3 2 15 5 100 400 = 1
QOLKSES  kSEX ELINESVILLE 1 Q.8 bt 28 =] 100 400 1
QOLLA LA LAMINGTIN 1 0.3 2 ] £ 100 400 =
QO1LAAZ LAAZ LANSDALE 1 0.8 4 0 k] 100 400 ]
QOLLDEE  LDBRZ LANSDALE i 0.2 4 k] o 100 400 =
OOILDEZ LDEZ LANSDALE 1 0.5 4 3 = 100 400 Z
OQ1LDCZ LDCE LANSDALE 1 0.2 4 @ 15 100 400 1
OO1ILDC3  LDC: LANSDALE 1 QL 4 2 15 100 400 0.791 1
QOOILE LE LAWRENCE 1 0.8 b ] ] 100 400 Q.08% 1.070 O.372 =
0011 GBZ LEGORE i 100 0.2 e 3 ] S100 400 Q.22 1,982 0,200 =
001L.GCZ LEGIRE 1 100 (= 2 = 15 100 400 B.11% 0.800 1
OOILGCR LEGORE 1 100 = kK] = 15 100 400 5.11% 1
O01LGD2 . LEGIRE 1 100 2 = 15 ] 100 400 11,780 1
OOILGE®? LGEZ L.LEGORE 1 100 ] 3 et 35 100 400 20,444 1
QO1LHA LHA LEHIGH 1 100 2 3 Q 3 100 400 0,089 0. 435 &
QOILHEE  LHEZ LEHIGH 1 100 k] 2 2 ] 100 400 0,227 1.988 =
QUILTEZ2 LTBZ2 LEHIGH VARIANT 1 100 ] 3 b B 100 400 0,287 1.982 e
QOLILTC:  LTCE LEHIGH VARIANT 1 100 o 3 = 158 100 400 O.991 B.119 1
OO1LVE LVE LEHIGH 1 100 0.8 o] (] 10 100 400 0.0&% 2.7 b
, OOIMALS  MARZ MANIR 1 100 0.2 = = = 100 400 Q.22 1,788 =
K QOIMACE  MACE MANDR 1 100 0.2 3 k] 15 100 400 0,29 B.119 0,438 1
QO1IMACE  MACE MANOR 1 100 Q.2 = o 16 100 400 0. G.11% 0,432 1
O01MADZ MADZ MANIR 1 100 0.2 2 15 a3 100 400 Z2.855% 14.720 0,432 1
QOimMD MD MADE LAND 1 100 0.8 100 400ERROR ERROR ERROR ERRD
OOLIME ME MELVIN 1 850 0.3 & o] Z 100 400 C0L304 0,420 e
QO1IME ME L.INDSIDE Z RO = L] O ] 100 400 Q.47 0,32 ]
QO1IMOA MOA MONTALTD 1 100 k] 4 0 2 100 400 QL4358 0,847 ]
QOIMOBE  MORZ MONTALTO 1 100 ] 4 e b 100 400 1,982 0,667 =
) OOIMOCE  MOICE MONTALLTO 1 100 = 4 = 15 100 400 S.119 O.a6T i
~ OOIMF MF MINES AND FITS 1 100 k] 100 400ERROR ERROR ERROR ERRL
OUIMSE MSE MONTALTO 1 100 = 4 (o] = 100 400 O.0&% =
QO1MSD MSD MONTALTO 1 100 k] 4 a =8 100 400 1
L 00 1MSE MSE MONTALTO 1 100 = 4 P 45 100 400 1
OO1IMTAZ MTAZ MOUNT LUCAS 1 100 = 4 4] ] 100 400 ]
OOIMTRZ MTR: MOUNT LUCAS 1 100 @ 4 ] 2 100 400 e
OOIMTCE  MTCZ MOUNT LUCAS 1100 Q.8 4 = 15 100 400 QuaaT i
QO1MUA MUA MIUNT LUCAS 1 100 0.8 4 [e] b 100 400 QL a7 ]
OOIMURE MUR MOUNT LUCAS 1 100 0,8 4 2 B 100 400 0.2 Q. E8ET Z
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